

UNIVERSITY OF KERALA

ENGINEERING UNIT, SUBDIVISION II, KARIAVATTOM

Quotation schedule for urgent work for replacement of damaged door and minor painting work at staff quarters D-16 at Kariavattom Campus.

Date of submission : 11/08/2025

Time of Completion : 25 days

SL No	Description	Quanity	Unit	Rate	Rate in Words	Amount
1	15.56 Dismantling old plaster or skirting raking out joints and cleaning the surface for plaster including disposal of rubbish to the dumping ground within 50 metres lead.	3.00	sqm	57.76	Rs Fifty seven Ps Seventy six only	173.28
2	26.29.1 Cleaning of reinforcement from rust from the reinforcing bars to give it a total rust free steel surface by using alkaline chemical rust remover of approved make with paint brush and removing loose particles after 24 hours of its application with wire brush and thoroughly washing with water and allowing it to dry, all complete as per direction of Engineer-In-Charge.Bars upto 12 mm diameter	10.00	metre	8.53	Rs Eight Ps Fifty three only	85.30
3	OD16993/2025-2026 Finishing with Epoxy paint (2 or more coats) at all locations prepared and applied as per manufacture specification including appropriate priming coat, preparation of surface etc.complete (on steel work)	10.00	metre	124.37	Rs One Hundred and Twenty Four Ps thirty seven only	1243.70

4	<p>26.31.1</p> <p>Providing, mixing and applying bonding coat of approved adhesive on chipped portion of RCC as per specifications and direction of Engineer-In-charge complete in all respect.SBR Polymer (@10% of cement weight) modified cementitious bond coat @2.2 kg cement per sqm of surface area mixed with specified proportion of approved polymer</p>	3.00	sqm	150.91	<p>Rs One Hundred and fifty Ps Ninety one only</p>	452.73
5	<p>26.32.2</p> <p>Providing, mixing and applying SBR polymer (of approved make) modified Cement mortar in proportion of 1:4 (1 cement: 4 graded coarse sand with polymer minimum 2% by wt. of cement used) as per specifications and directions of Engineer-in-charge.</p> <p>Note: Measurement and payment: The pre-measurement of thickness shall be done just after the surface preparation is completed and Payment under this item shall be made only after proper wet curing has been done and surface has been satisfactorily evaluated by sounding / tapping with a blunt metal instrument and/or the 75mm size cube crushing strength at the end of 28 days to be not less than 30 N/Sqmm2).25 mm average thickness in 2 layers.</p>	3.00	sqm	654.37	<p>Rs Six Hundred and fifty four Ps Thirty seven only</p>	1963.11
6	<p>13.43.1</p> <p>Applying one coat of water thinnable cement primer of approved brand and manufacture on wall surface:Water thinnable cement primer</p>	3.00	sqm	82.65	<p>Rs Eighty two Ps sixty five only</p>	247.95

7	13.82.1 Wall painting with acrylic emulsion paint, having VOC (Volatile Organic Compound) content less than 50 grams/ litre, of approved brand and manufacture including applying additional coats wherever required, to achieve even shade and colour. One coat	200.00	sqm	99.97	Rs Ninety nine Ps ninety seven only	19994.00
8	OD55059/2025-2026 Labour(Coolie) engaged for removing white or colour wash by scrapping and sand papering and preparing the surface smooth .	1.00	each	1106.22	Rs One Thousand One Hundred and Six Ps twenty two only	1106.22
9	10.25.2 Item Shifted to Sub head 14 as item 14.73 Item Shifted to head 14 as item 14.74 Steel work welded in built up sections/framed work, including cutting, hoisting, fixing in position and applying a priming coat of approved steel primer using structural steel etc. as required.In gratings, frames, guard bar, ladder, railings, brackets, gates and similar works	70.00	kg	182.39	Rs One hundred and Eighty two Ps thirty nine only	12767.30
10	13.61.1 Painting with synthetic enamel paint of approved brand and manufacture to give an even shade:Two or more coats on new work	10.00	sqm	168.52	Rs One hundred and sixty eight Ps fifty two only	1685.20
11	9.55.2 Providing and fixing ISI marked IS : 1341 M.S. pressed butt hinges bright finished with necessary screws etc. complete :100x58x1.90mm.	4.00	no	50.04	Rs Fifty Ps four only	200.16

12	OD17008/2025-2026 Labour (carpenter) engaged for easing and repairing the doors and windows etc. complete.	2.00	each	1224.56	Rs One Thousand two Hundred and twenty four Ps Fifty six only	2449.12
Total Amount						42368.07
After round off Total (Rs.42,368/- Forty two Thousand Three hundred and Sixty eight Only)						42368.00

I/We undertake to execute the work at 1).....% below estimate rate

2) At the estimate rate

3) Above the estimate rate

CONTRACTOR (Name and Address)

Sd/-

ASSISTANT EXECUTIVE ENGINEER